Question 1/9 o)
Evaluate the sum below:
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Question 2/9 =)
Find the general solution to
cos(:{}i}i— +sin(x)y = }:-cc:s?{:{}

dx

y = 0052{}:}(:{2 + C:{Q)
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O v=cos?(x)(x2+C)
O y= % cos(x) — C-cos(x)
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Question 3/9 =)

Find the general solution to
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Question 5/9 2p)

Find an expression for the Euler—Cauchy equation whose general solution is given by

Xy —8xy" + 16y =0
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Question 7/9 o)

Find an expression for the nonhomogeneous linear ODE whose general solution is given by

y = ﬁxeixcos(x) — Beixain{ x) + e 2%
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